Problems of the qum Week 2 answers for 27t April
| Sam has €50
He buys this cap and jumper with his

\ I have U2
money. A stickers ]
/ ’ 19+ 15 = 3y
.\ 50 — 34 = 16
I have 60 (0] 0)
“ stickers >

How much money does he have left? Mo gives Alex some stickers.
Sam has €16 left. They now have the same number
2 One half of a nhumber is 6 of stickers.
Wha; s 2dou||;|e the number? How many stickers does Mo give
p 4 =
12 x2=24 Alex?

60 - 42 =18

24 is double the humber. 8-2=9 White
Mo gives Alex 9 stickers. %



